4.2 HW Answers
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40. csc)—z=csc £+2£1' =cac£=\,-'
4 4 Bl
41.
42, sec oz = sec —9—I+4;r =sec?—ﬁ=\:"§
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Sm T T
43, tan—=tan| —+x |=tan— =1
4 4 4
St T T
44, cot—=cot| —+m |=cot—=1
4 4
5
45. cot(—%]=cot[3—ﬁ—2;r]=cm3%= 1

46. tan —9—3- = tan —9—E+3;r =Ian3—x= 1
4 4 4

51. cos(—E— lOOOJrchus(—£+2Jr]
4 4

52. cos(—% - 2000}1’] = cos(—% + 2;1']
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4

53. a.

b sin2® =sin 3—E+23r =sin3—'?r:_
4 4 4
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47.

48.

49.

50.

—tan[£+15.rr]=—tan£=—1
4 4

sin [—ﬁ—zooo;rJ - sin(—£+ 23]
4 4
7
=sin—

V2

54. a.

55. a. cos£=“
2
b LOS—=LOS{§+4?T]
= cos [£+ 2(2;:)]
2
T
=C08 —
2
56. a. sin£=1
Qo - Y ™



57.

58.

b. Sinﬂzsin £+2}r :sinﬂ
4 4 4

ltant = g =0

tanl177 = tan{ﬂ-_'_]()ﬂ.)
= tan[7 +8(27)]
=tlanrm

157 b T
cot——=cot| —+77 |=cot—
2 2 5
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59.

60.

SIN— = |

S5In— =s1n _+4ﬂ' =sin= =1
2 [.2 j 2

47 T 1T
COST =cos| —+10xr |= co.‘T



